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Vocabulary Challenge

Why didn't the skeleton cross the road? He didn't have the guts.

Complete the activity.

1. HGMLR__ QW (-1 +6) 11.
2. GCIEK__ GM (-4 + 6) 12.
3. DAIFN__ KS(-3+8) 13.
4. MIPMS_ _ PV (-3 +6) 14.
5. SWNRI__ MD (+ 4 - 9) 15.
6. YZWXU__ VS (+1-3) 16.
7. UZPUK__ PF (+5-10) 17.
8. IHLKO_ _ NR (-1 +4) 18.
9. QRMNI__ JE(+1-5) 19.
10. TXRVP_ _ TN (+ 4 - 6) 20.

UXQTM_ _
IFKHM_ _
OSKOG_

TRPNL_

FEIHL_ _

EHDGC_ _
YVSPM_ _
NIRMV_
PTOSN_ _

TYQVN_ _

PI(+3-7)

JO (-3+5)

KC (+4 - 8)

JH (- 2)

KO (-1+4)

FB (+ 3 - 4)

JG (- 3)

QZ(-5+9)

RM (+ 4 - 5)

SK (+5-8)
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